Spring 1996

Organic Chemistry (Chemistry 3311) -
Dr. Bamney Ellison
Final Examination Friday, 10.V .96 from 7:30 am to 10:30 am in Chem 140

Name kt'& (vlease print)
1. (10 ptg) Whar ia the product of the following reaction? Hew is it formed? -
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2,120 pie) Dwevise a gynihesis 1o carmy oul the fallowing ransformations. 1Tse any reagents yom
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3. (10 pts) Devise 2 synthesis 1o carry cul the following transformations. Use any reagents you

like,
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4, (10 pts) Devise a synthesis 10 carry out the follewing transformation, Use any reagents you
Db, Whal is e confliguration al e chival C i both slarting material & product as R or
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5. (10 ps) There are 4 isomers formed in the following reaction. What are they?
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. {20 pis) In each of the following structures, label each chiral cemer B or 87 Which molecules
are enanticmers? Which are diasteriomers? Which are oplical zotive?
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7, (10 pts) There are 2 isomers [oomed o the [ollowing reaclion. Whal are they & how are Lhey
lormed?
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B. (10 pis) Devize a synthesis 10 carry oul the following ransformation. Use any reagents you
like.
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9, (20 pt=) What ave ike products of lhe [ollowing reactions?
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10, (10 pts) What is the product of the following reactiont? What is the mechanism by which it

pors?
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13 (10 pts) What is the product in following ractions? Whal is the mechanism hy which they

go?
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